PROJEKTOR DZWIEKU
SOUND PROJECTOR
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DAW-K 130/10

PROJEKTOR DZWIEKU

Projektory DAW-K 130/10 wykonane sa z ABS co gwarantuje wysoka jako$¢
emitowanych dzwickow. Wyposazone sg w wysokiej jakosci szerokopasmowy
gloénik o $rednicy 130 mm. Glosniki te zalecane sg do zastosowan
zewnetrznych. Charakteryzuja si¢ fatwym i szybkim systemem
mocowania.Posiadajg stopien ochrony IP 66.

SOUND PROJEKTOR

This sound projector with cylindric ABS plastic housing provides a high
efficiency and is particularly qualified for outdoor use. As it is provided with
both, a 130 mm full range chassis and 100 volt transformer, the DAW-K 130/10
enables an excellent music reproduction and speech comprehensibility. Due to
the integrated flexible mounting bracket it allows an easy wall and ceiling
application.

Dane techniczne / Specifications

oznaczenie / type

DAW-K 130/10

moc nominalna / Loading rate:

10w

Typ gto$nika / Chassis-type:

130 mm szerokopasmowy / 130 mm full range

Zakres czestotliwosci / Frequency

range (-10dB):

220 - 15 600 Hz

SPL1W / 1m: 100,2 dB
SPL Pmax / 1m: 110,2 dB
Kat emisji / Radiation angle 1.000

Hz (-10dB): 170°

Typ transformatora / Transformer: {100 V, 10/6/3/1,5 Watt

Wymiary / Dimensions:

@140 x 200 mm

|Waga / Weight: 1,9 kg

Materiat / Material: ABS - Plastik / ABS Plastic
Ochrona / Protection IP 66

Ztgcze | Connection: przewodd 1m

Kolor / Colour: Biaty / white

VPE / Packing unit: 8
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PROJEKTOR DiWI KU
SOUND PROJECTOR DAW-K 130/10

Parametry kierunkowe / Polar diagram & Directional characteristics
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Czestotliwo$¢ / Frequency 0,5 kHz 1 kHz 2 kHz 4 kHz 8 kHz
Kat rozpraszania / Radiation angle [°] 360 190 115 60 25
Directivity Index (D;) [dB] 0,0 3,4 6,0 10,9 18,3
Directivity Ratio (Q) 1,0 2,2 4,0 12,4 67,0
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